Here’s an explanation of why it would be incorrect to translate particular affirmative propositions with a conditional sign instead of a conjunction.  
For example, let’s try to translate “Some snake is poisonous” as “((x)(Sx ( Px)”, i.e., “There is some x such that if x is a snake, x is poisonous”.  

We can apply the inference rule of “material implication” to the expression within the second pair of parentheses, resulting in “((x)((Sx ( Px)”, i.e., “There is some x such that x is either not a snake or x is poisonous”.    
This proposition would be true as long as there’s either something that’s not a snake, or something that’s poisonous.  It would thus be consistent with there being no poisonous snakes.  Thus this wouldn’t be a correct way to translate the particular affirmative.
